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ASSOCIATESHIP EXAMINATION
FIRE & CONSEQUENTIAL LOSS INSURANCE
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. Write short notes on'the following in respect of Industrial All Risk Policy. 4each
a) Eligibility
b) Covers included
¢) Excluded Property
d) Deductibles.
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2. With respect to processing of fire claims, explain the following:
a)  Onus of Proof
b) Warranty
¢} Ex-gratiapayments.
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3. a) Distinguish between the terms - Book value, market value and 6 each
v Reinstatement value. '
b) Whatare the provisos in the reinstatement value clause under fire policy.
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4. a) Whatarefloaterpolicies? 4 each
b) How are they different from declaration policies ?
¢)  How is the premium charged under floater policies ?
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5.. a) Whatis meant by pro-rata average condition ? : : 6 each
b) Calculate the loss payable if sum insured is Rs. 10 lacs. Value at risk
on date of loss is Rs. 25 lacs, assessed loss is Rs. 10 lacs and excess

is Rs. 10,000.
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6. What factors are considered for arriving at the rates applicable to a Petro- 12

chemical plant ?
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Explain the objects of Re-insurance ? 12
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k What is the object of Risk Inspection Report under Fire Insurance 7 12
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Why it is necessary to incorporate 'trend of the business’ adjustment clause 12
under a Consequential Loss Insurance Policy ?
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Give the definitions of the following terms used under a consequential 4each
loss policy : - '

a) Turnover

b) Indemnity Period

¢) Rate of Gross Profit.
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